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October 26, 2005
Show all work for credit.  Use dimensional analysis for calculation problems
NA = 6.022 x 1023/mol, PV=nRT, R=0.0821 L atm/mol K=62.4 L torr.mol K
760 torr = 760 mm Hg = 1.00 atm = 101 kPa = 14.7 psi = 29.9 in Hg, K = oC+273
1.  (4 points) An American broadcast states that the barometer reads 30.4 in Hg.  Express the atmospheric pressure in each of the following units
a. atm
b. psi
2. (5 points) What is the final temperature (in oC) of a sample of argon gas if 12.50 L at 35oC is compressed to a volume of 3.6 L?  Assume the pressure remains constant.
3. (5 points) A 3.53 mole sample of chlorine gas is collected in a 5.00 L cylinder at 37.0oC.  What is the pressure of the chlorine gas?

4. (6 points) An unknown gas has a density of 1.27 g/L at standard temperature and pressure.  What is the molar mass of the gas?






